QdIe AMead

ax*+bx—c=0. (a#0)q a8 |
ax? + bx — ¢ = 06R6AX*QAL6! 266" |

ax? + bx — ¢ = 06@6AXAYL6! 266" |

ax? + bx — ¢ = 0626AYIR AR 266" |

x% — 5x — 6 = 06R6AX%QAL6! 266 |

x%2 — 5% — 6 = 06@6AXQLL6 266 |

x? —5x — 6 = 0626A Y@ AR 266" |
ax? + bx — c = 09 96QQFE A66" |

LW 0 N O U B W N e

96@eaD =

=
o

.ax? + cx—b = 09 96@Q&E a66" |

=
=

.x%2 = 5x — 6 = 0991@Q€Q Y6QQRE A66" |

=
N

.3x% + x — a = 09718QdQ 96QQaF A66" |

[EEY
w

X2 —x— 1= 0999049 960ad a66' |

[EEY
N

.x2 — 8x + 15 = 0999Qda 96Qees aA66" |

[EEY
wn

.x? —2x — 8 = 099804 Y6QRE a66' |
.25x% — 30x + 7 = 09990da g60ead A66" |
X2 —4x + 4 = 09910089 Y6QQed A66" |

=
(2)]

=
~N

=
Co

. 7x% = 9x + 2 = 09918 QdQ J6Qead A66" |

[EEY
O

.3x? 4+ 5x — 3 = 09994 6QeeE a68' |

N
o

. 2x% — 9x + 4 = 09994 6QeeE a68' |

N
(=Y

.ax? + bx — ¢ = 09RQERIYY B YOOI YARELEAYRLANIQE

N
N

.ax? + bx — ¢ = 09RQEAIYR, ¥& G UHPEVEANALANLQE

N
w

.ax? + bx — ¢ = 09RQLIYRY, AEREATIRLLNYQE

N
S

.x* — 2x — 8 = 097@QdQ7RQAAQd 266" |

N
v

2x% + kx + 3 = 0909Q4QRQLIIBS G AR 626RKATNR 666G ?
7x% — 9x + 2 = 090RQEQYRQUAYQA @€l 26T |

3x* — 2x — 1 = 09019QdQ9RQANIQA @6l AE' |

x? — 4x + 4 = 09920€Q9RQLALQA R4 266 |

NONN
©® N o

N
©

4x% — 2x — c = 09RQE @ G YAPELEACATNR 6966 ?

w
o

x? + 4x + k = 0969Q4Q9RQOLIZe 3 AYIR 626RAKANIR 6866 ?

w
=

ax? + bx + ¢ = 09RQEQ A& (atp) =

w
e

3x* — 13x + 12 = 09RQ4a A& =

w
w

5x? + 15x + 5 = 09RQ4a A& =
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ax? + bx — ¢ = 09RQAQ QN& =

2x* +tx — 6 = 09RQ4AQ A& =

3x* — 2x — 1 = 09RQQAQ AN

3x? — 2x + 1 = 09RQEQ AN

4x? = 2x + - = 099998 ang =
4x* + 3x + 7 = 09RQ4Q a9 =

ax? —bx — ¢ = 09RQAQ QNG =

ax® + bx + ¢ = 09RQAQ GéIPR (af) =

3x? — 13x + 12 = 09)RQAQ Q&rR =
5x% 4+ 15x + 5 = 091RQ4Q géIrR =

ax? + bx — ¢ = 09RQAQ GETFR =

2x* + tx — 6 = 09RQUQ QTR =

3x% 4+ 2V/5x + 5 = 09RQ4A gaPe =
3x* —2x+ 1 = 091RQQQ GéITrR =
mx? — 2x + (2m — 1) = 09MRQIQIRQLR TR 36a6amasia fda aa |
x?2 —px+2 = 0 Gale IMAQdQ 66IEN Q162 626R p Q JAY 6R66?

4x% — 2x + ¢ = 0 ANAQAIAYRQE @ 3 UCREEMELEAC A FAY 6667

5x% 4+ 2x + k = 0 §ale QMaada 661G @16—2 626R k Q JAY 6667

x? —kx + 6 = 0 §AIG AMAQEQ 66IE 1G3626Rk Q FRY 69667

x? —5x+ k = 0 @6 aMaada 6618 9a Aqueas gé 626ak Q JaY 69667

4x* — 13x + k = 0 §ale AMRQdQ 661G 9@ AQUFTA12 gél 626Rk Q JAY 6R66?

x? —5x+p = 0 §ale AMRQdQ 661G gp Aaad 6asi3 AR 6a6ap Q JAY 69667
16-19R%4% §ale AMaadd 6l |

-68 891RQ€IR Gale MR 6RE |

@ GaIe AMRQdaRea38 —5 626R GAICAMAQE 6866 ?

ax? 4+ bx + ¢ = 09MRQIQIRQAQ ANT B e 0a AAGAICANRQET 6@65 ?

IRQER 4984 3 QTR 6Q6R AIPASINAEE 6966 7
IRQER 49184 3 GaTR—62sA JAIRANRRES 6966 ?

ARQaQ A982V3 8 FUCrPR26Q6R QAR 6R66 ?
@ GaIe ANMRAQRQA—38 —5 626R GaICAMFQEE 6@66 ?

ax? + bx + ¢ = 0291REEAAELE PER6RA + AR 67607

2% — 6x + 3 = 0291QREIARGEAG Po@cR + Lagau 6a60?

2x2 — 6x+ 3 = 02719EAFRPAL3 PERERS + QAU 67607

7x% — 9x + 2 = 099M1@Q¢9RQU03 P6R6AA—PAYAY 6R6G?
x? — 5x + 6 = 09MRQEIQIRGLUB PER6RAH+PZATIAY 6R66?
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4%% + 3x + 7 = 09918Q€Q9RQaS PeRsAN*—B*QIAY 69667 ‘ %

2x% — 6x + 3 = 021RAIAYRQE0S Be@smﬁaqmq 69667

2x% — 5x + 3 = 09919ENYRQES PERERAP 2+aPP AR 67667
5x% + 17% + 6 = 02FMRQRIRPLB Posa + %aglm 69667
1
B
6x% + 11x + 3 = 0291AQARQE0B BEREA (+B)’QYAY 67667

4x? + 3x + 7 = 09919QEIAIRGEAB BERER: + QAU 67667

6x2 + 11x + 3 = 09919 QIQ)RQAaB PERER (a—P)’*QFIRY 69667
6EIENQ 6l B NRIQMERNQ AAF 2 | LEITGX 6R6AFAIC AMRAEF
6EISNQ 6l B NRIQMERNQ AN 3 | LEITGX 6R6AFAIE AMRAEIF
QA ea A& 1848° 6Q0IRE GEPR 72 | 6EITNACHITFX 6R6RGAIS
AMR Q& 266 |

QREede gdaauia gecs 20 | LEUIQAMRIQESITNABIE QY sacndale
AN Q& 2a6e' |

6EITN Bl GIREIALANR 6Q6MT°EUIT 266" |
VX +x = 6§ Qe AMeQd Q69 dRISIFEAIMARET
VX +9+ 3 =xq §dIe AMRAEIQET FEAANFQEE
X —2vV2 — 6 = 09119QEIQRAIG AMFQE Q6T YRIGFEAINFREE
seINGale ameadqo = 3 ,p= -2626RAMIQEE
seINGale agaadqo = -1 ,p= -2626AANMAQEF
661G aIe AMeadaa +B= 7, af= 12626RANMAQEE

X += =5 626AQAI6 2ANRAEE 266" |
a +B= 10, a- B= 4 6@6agale AMeQd
o +B= 8, a- p= 2 626AGAIC AMGQEE
a=2++3, p=2- V/3626AQ4I6 AMaads
4x% 4 2x + ¢ = 0 ANIQIAIRYANRE AAY6L6RC Q@ MY

2x? + kx + 3 = 0 AMFQEIQIRQARIGS G AR 626Ak Q
66ISN 6148 A6l B GIRGERIGRTEAINR CACIPR 6Q6RA°EHIT
5x2 +3x+ 9 = 0 §alIe NMRQEQ 6615 F1R-1626Rc Q IR
x2 +x+ 1= 0 IM@QEF 266" |

6x% — 7x — 3 = 0 GaAIEAMRQaD= 26e' |
QR URIGRIEa A0E 84e° gaca 15 626A9RaNTEUIF
V3x2 + 6 = RIIGRRE 26e |

7x* = 9x + 2 = 0 9RQAQYQd a6 |
3x2 + 2v/5x — V5 = 0 9903 B626RIPASIA 69667
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